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QUESTION 1

Oasis Corporation has decided to develop a single Instance multi-tiered application with its existing EIS resources. You
are the technical lead for the Integration team responsible for providing the following: A common Interface that can
easily access the heterogeneous EIS resources 

Generic transaction mechanism support for EIS resource managers 

A connection pool to legacy EIS resources 

Which two technologies would you use to meet these requirements? 

A. JMS 

B. JDBC 

C. JCA 

D. JAX-WS 

E. JAX-RS 

Correct Answer: BC 

 

QUESTION 2

You have been recruited by an online retailer of footwear to conduct a review of their online systems. Your primary
Finding is that the development team has implemented duplicated complex business logic as Java scripts directly into
the JSPs, causing performance, scalability, and maintainability issues. 

Which two design patterns would you select to improve the current code base? 

A. View Helper 

B. From Controller 

C. Composite View 

D. Service-to-Worker 

E. Business Delegate 

Correct Answer: BD 

 

QUESTION 3

Which two statements are true about java Cryptography Architecture (JCA)? 

A. Any JCA provider must implement each supported category of algorithms. 

B. Exactly one Implementation of each category of cryptographic algorithms must be provided. 
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C. Implementations of cryptographic algorithms can be plugged in to a JVM after it has been installed and at run time. 

D. Categories of algorithms supported by JCA include message digests, signatures encryption, management, and
random number generation. 

Correct Answer: CD 

 

QUESTION 4

Your CMC wants to move several web based search applications to an AJAX model, hoping to improve user
engagement with a browser experience that feels smaller and more responsive. 

Which identifies a drawback to consider when adopting an AJAX model to improve user experience? 

A. Maintaining current performance could require more hardware. 

B. Maintaining accessibility across clients may require more development. 

C. Maintaining security within the page could be more difficult. 

D. Maintaining page navigability for users would have to be re-evaluated. 

E. Maintaining a scalable system could require redesigning applications. 

Correct Answer: C 

 

QUESTION 5

Which two features are supported by the Java Authentication and Authorization Service (JAAS) API? 

A. Single sign on 

B. Secure network connections 

C. Configurable access control policies 

D. Web services security 

E. Message encryption and key generation 

Correct Answer: AC 

 

QUESTION 6

Which two statements apply to unsigned applets? 

A. They can access the client file system. 

B. They can connect to third-party servers. 

C. They can connect to the originating host. 
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D. They can invoke public methods of applets on a page. 

E. They can load native libraries. 

Correct Answer: CD 

 

QUESTION 7

You are designing a new subsystem to store and scratch for user commands in a fashion company\\'s website. On
class, CommentManager, is responsible for accessing comment data and providing read-only access to other objects in
the subsystem. 

Which two implementation details are necessary for the Cementmanager class? 

A. The storage mechanism implemented in CommentManager must be private to CommentManager. 

B. All the accessor and mutator methods in CommentManager must have the static modifier in their declarations. 

C. The comments must be assessable directly only within CommentManager. 

D. CommentManager should be a singleton object. 

Correct Answer: AC 

 

QUESTION 8

The integration team has reported a problem in testing a few deployed MDBs. By design, each MDB listens to one of
four named queues. Two producers write messages to each queue. The test issues messages of the same payload
type that each producer will send, but varies the number or size of these messages to measure the messaging server\\'s
performance. 

The team has noticed that the utilization remains at the same high rate any time the test writes messages destined for
the third MDB. The message server log does not reveal any failure in sending messages to this MDB. Which
anticipation expresses cause for this condition? 

A. Hot Potato 

B. Leaky Abstraction 

C. Cache less Cow 

D. Golden Hammer 

Correct Answer: A 

 

QUESTION 9

You are the architect of an existing project. Making changes to one component frequently requires making changes to
many other components. Which action would reduce future maintenance costs? 

A. Redesign the configuration and deployment. 
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B. Add an abstraction layer between the servlets and the EJB components. 

C. Convert all stateful EJB components to stateless EJB components. 

D. Expose the existing EJB components as web services. 

Correct Answer: B 

 

QUESTION 10

You are the architect of a JEE-based product that customers can configure to meet their own security requirements.
You want to enforce basic without sacrificing customers ability to customize the product. 

Which is the best method to support both requirements? 

A. Define base roles and users declaratively 

B. Define base roles and users programmatically 

C. Build a custom security service to handle authorization 

D. Customize the JRE sandbox model by using local variables 

Correct Answer: C 

 

QUESTION 11

You are consulting with a team that has maintained several legacy database for years. They have reviewed the JPA
spec and are wondering if the technology would offer benefits over this current SQL base. 

Which statement identifies a risk of adopting JPA? 

A. JPA only works with well-known data models. 

B. JPA may be able to model every table as a class. 

C. JPA could render code that requires extensive SQL tuning to perform well. 

D. JPA\\'s query language relies on a container to manage the persistence layer. 

E. JPA doesn\\'t provides ACID semantics. 

Correct Answer: A 

 

QUESTION 12

Which two are primary concerns for a service-oriented architecture (SOA)? 

A. Low cohesion 

B. Loose coupling 
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C. Session handling 

D. Well defined contracts 

Correct Answer: BD 

 

QUESTION 13

Upper management has announced a change in a company\\'s primary hardware supplier for the next year, the timing
of this change coincides with key purchases that line of business department has to make in support of its Java EE
application upgrade/redesign project. 

You are asked to help outline a strategy to preserve the project timeline and keep hardware training costs contained. 

Which recommendation will you make? 

A. Add new hardware to create a heterogeneous environment. 

B. Request another year of sales and support with the existing vendor. 

C. Request more time to consider the total cost of change to your project and to modify your budget. 

D. Use new hardware on the web tier and redeploy existing hardware to the other tiers. 

Correct Answer: A 

 

QUESTION 14

Your web page design company is designing websites for all the stores in a local mall. Your company must create a
consistent "look and fool" for these sites. 

After this "look and feel- project has gone through demonstration, enhancement and approval iterations with the mall\\'s
.lions, you job is complete and the development of the actual B2C (Business to-Client) system will be handled by a
different firm 

Which architecture is most appropriate for your prototype project? 

A. Two tier, web-centric 

B. Three, web-centric 

C. Three-tier, enterprise-centric 

D. Three-tier, application-centric 

Correct Answer: A 

 

QUESTION 15

Which statement is true about the use of security-related annotations in an enterprise bean? 
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A. They can be used to specify permissions only on business methods. 

B. They can be used to specify permissions on a class or its business methods. 

C. They can be used to change an authentication mechanism. 

D. They can be used to acquire a secure connection using SSL. 

E. They can be inherited from a parent abstract class. 

Correct Answer: B 
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